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QL. | To study the relationship between the marks obtained in Statistics {x) and marks in | [2] CO1
Economics (y) of the students of a school, a sample of ten students is taken a’hd the
following information is obtained.
3(x-%)(y-7) = 120, 2(x- %)’ =80, £(y-7)" = 500
Find the correlation coefficient between x and y. :
Q2. | Suppose you are working on weather prediction, and yol would:like to predict whether | {21 CO2
or not it would be raining at Spm tomorrow. You:want'to usea‘learning algorithm for
this. Would you treat this as a classification or a r¢ gresSxon problem and why?
Q3. | What is the Bias-Variance tradeoff? i [3] CO2
Q4. | A KNN classifier assigns a test instance the majonty class associated with its K nearest | [2+1+2]
training instances. Distance between instances is measured using Euclidean distance. COt
Suppose we have the following training set. of positive (+) and negative (-} instances
and a single test instance (o). All instances are projected onto a vector space of two
real-valued features (X and Y). Answer the' following questions. Assume “unweighted”
KNN (every nearest neighbor-contributes equally to the final vote).
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" (a) “What would be the class assigned to this test instance for K=3 and K=5?
b) Seétting K to a large value seems like a good idea. We get more votes! Given this
_pé}ticular training set, would you recommend setting K = 1 1? Why or why not?
{c) How to choose optimal value of K in KNN Algorithm?
Q5. | The monthly sale of different types of laptops (in hundred units) and its profit (in lakh) | [3] CO1
for the last six months for a company is given below:
Months 1 2 3 4 3 6
No. of laptops sold (in hundred 5 7 5 12 8 3
units) X
Profit (lakh) Y 8 9 10 | 15 10 6
Obtain the regression line of Y on X. Also find the error in estimating Y for X =7,




